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AH X HRX 5 XHHRBATEEE) X HE%E
4/3 1|fE |[BEFE1EFEDY 4,884
4/4 7 (BEE (BEHY1Y 16,500
4/4 2 |2& |BATEREHERS 10,000
4/6 2 |28 |KRRAS= 12,000
4/11 2 [ RE |BBEHLIR 6,000
4/15 | 7 |IBEE (BEAY1Y 16,500
4/16 | 2 |RE |[BATEZAISTEEESRE 4,895
417 | 2 |88 |ZHRERERREHRE 6,000
4/18 | 2 |RE |JALLFAEEHREES 4,884
4/18 | 2 |28 |[BERRBRAKXEEFHXRRES 4,730
4/22 | 2 |=E |RRATSRESFERIUBEHEES 10,000
4/24 | 2 |=2E |HEBAMEHMGESES 6,000
= 1244 102,393
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AH X HRX 5 XHHRBATEEE) X HE%E
5/11 7 (BEE BEAHY1Y 5,940
511 | 2 |& BfERNBAS 11,000
5/23 | 2 |& FRAME MR RETISHRS 5,000
5/25 | 2 |& RNV ISTHRE 5,500
5/28 | 1 |fifgE |BATEI&E#HA= 10,000
5/29 | 1 |fifE |SKoHMHEEHRARS 4,884
5/30 | 2 |& FERTEIEXBREEHRS 10,000
= T4 52,324
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AR X HRX 5 XHHRBATEEE) X HE%E
6/1 2| WUIHERBHE 4,895
6/2 2| & AT ERERFEHERR 10,000
6/5 2| & BATREREHEREA BT 10,000
6/9 8| Mt (#IRBOREFEIE#% - FHITEZRBE 10,000
6/11 2| & RN S REEE RS 5,000
6/14 2| & AR—=YI5TEWENWRERXBHRES 6,000
6/17 8|zt |[FKEELERFMITEZNE 10,000
6/18 2|& fRAmELRRHRE 5,000
6/27 2|& AR R B EEERRRE 10,000
6/28 2| & FRNDEERS REH F X 6,000
6/29 2| & =hitERR X RR TIREG R SRS 6,000
6/29 2| = PFEFILEHRR 10,000
= 1244 92,895




